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QUESTION 1

A user created a workflow template using Process Builder. Customers are sending service tickets that indicate they are
unable to find the workflow in the system. Which Process Builder action will allow the customers to use the workflow
template? 

A. Install 

B. Activate 

C. Promote 

D. Enable Permissions 

Correct Answer: A 

 

QUESTION 2

What is the super type of dm_folder? 

A. dm_store 

B. dm_cabinet 

C. dm_sysobject 

D. dmr_containment 

Correct Answer: C 

 

QUESTION 3

Refer to the exhibit. 

In the business process shown, what is the result if the Join activity is removed? 

A. Workflow does not validate. 
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B. Workflow completes more efficiently. 

C. Supervisor can powerpromote to complete the activity. 

D. The workflow is allowed to finish when either Legal or Marketing has completed their tasks. 

Correct Answer: A 

 

QUESTION 4

Which type of organizational structure is used by the Content Server to automatically parse and organize imported
compound XML documents? 

A. renditions 

B. lifecycle states 

C. virtual documents 

D. dm_relation objects 

Correct Answer: C 

 

QUESTION 5

In which state can a workflow instance exist? 

A. open 

B. start 

C. active 

D. running 

Correct Answer: D 
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